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 ŸÊ◊Ê¢∑§ Roll No. 
  

 
 

      

 

No. of Questions — 30 S—07—Science 

No. of Printed Pages — 11 
 

◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2013 
SECONDARY EXAMINATION, 2013 

ÁflôÊÊŸ 
SCIENCE  

‚◊ÿ — 3 
1
4   ÉÊá≈U 

¬ÍáÊÊZ∑§ — 80 
 

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê — 
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –  

  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 

 2. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –  

  All the questions are compulsory. 

 3. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –  

  Write the answer to each question in the given answer-book 

only. 

 4. Á¡Ÿ ¬˝‡ŸÊ¥ ◊¥ •ÊãÃÁ⁄U∑§ πá«U „Ò¥U, ©UŸ ‚÷Ë ∑§ ©UûÊ⁄U ∞∑§ ‚ÊÕ „UË Á‹π¥ –  

  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
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 5. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÊœÊ÷Ê‚ 
„UÊŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ê ‚„UË ◊ÊŸ¥ –  

  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 6. πá«U ¬̋‡Ÿ ‚¢ÅÿÊ  •¢∑§ ¬̋àÿ∑§ ¬̋‡Ÿ  
  • 1 – 8 1 

  ’ 9 – 14 2 

  ‚ 15 – 24 3 

  Œ 25 – 30 5 

  Section  Question Nos. Marks per question 

  A 1 – 8 1 

  B 9 – 14 2 

  C 15 – 24 3 

  D 25 – 30 5 

 7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 28  ‚ 30 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –  
  There are internal choices in Q. No. 28 to 30. 

πá«U - • 

Section - A  

1.  ÁflSÕÊ¬Ÿ ∞fl¢ Ám-ÁflSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ ◊¥ ∞∑§ •ãÃ⁄U Á‹Áπÿ –  

 Write one difference between displacement and double displacement 

reaction. 1 

2. ◊ÕŸ ∑§ Œ„UŸ ∑§Ê ‚¢ÃÈÁ‹Ã ‚◊Ë∑§⁄UáÊ Á‹Áπÿ –  

 Write the balanced equation of combustion of methane. 1  
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3. ãÿÍ‹Òá«U‚̃ ∑§Ë ∑§À¬ŸÊ ∑§ •ŸÈ‚Ê⁄U, ¬˝∑Î§ÁÃ ◊¥ ∑È§‹ ÃàflÊ¥ ∑§Ë ‚¢ÅÿÊ Á∑§ÃŸË ÕË ?   

 According to the assumption of Newlands, what is the total number of 

elements in nature ? 1 

4. •◊Ë’Ê ◊¥ ¬˝¡ŸŸ ÁflÁœ ∑§Ê ŸÊ◊ Á‹Áπÿ –  

 Write the name of reproductive method in Amoeba. 1 

5. ∑§Êß¸ ŒÊ ¬˝∑§Ê⁄U ∑§ ¡ËflÊ‡◊ ßZœŸ ∑§ ŸÊ◊ ’ÃÊßÿ – 

 Mention the names of any two types of fossil fuels. 1  

6. ÁfllÈÃ ¡ÁŸòÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊßÿ –  

 Draw a labelled diagram of an electric generator. 1 

7. øÈê’∑§Ëÿ ˇÊòÊ ⁄UπÊ∞° ¬⁄US¬⁄U ÄÿÊ¥ Ÿ„UË¥ ∑§Ê≈UÃË „Ò¥ ?  

 Why do magnetic field lines not intersect each other ? 1  

8. ∞∑§ 12 Ω  ¬˝ÁÃ⁄UÊœ ∑§ ÃËŸ ’⁄UÊ’⁄U ≈ÈU∑§«∏U ∑§⁄U∑§ ©Uã„¥U ÁòÊ÷È¡Ê∑§Ê⁄U •Ê∑Î§ÁÃ ◊¥ ¡Ê«∏UÊ ¡ÊÃÊ „ÒU – 

ÁòÊ÷È¡ ∑§Ë Á∑§‚Ë ∞∑§ ÷È¡Ê ∑§ ŒÊŸÊ¥ Á‚⁄UÊ¥ ∑§ ◊äÿ ÃÈÀÿ ¬˝ÁÃ⁄UÊœ ôÊÊÃ ∑§ËÁ¡∞ – 

 A 12 Ω resistance is cut into three equal parts and then connected in 

triangular form. Determine the equivalent resistance between two ends 

of any side of the triangle. 1  
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πá«U - ’ 

Section - B  

9. ªÒ¥ª fl ∞ŸÊ«U ¬¢∑§ ¬⁄U ‚¢ÁˇÊåÃ Á≈Uå¬áÊË Á‹Áπÿ –  

 Write a short note on gangue and anode mud. 1 + 1 = 2 

10. ©UûÊ◊ ™§¡Ê¸ dÊÃ ∑§Ë Áfl‡Ê·ÃÊ∞° Á‹Áπÿ –  

 What are the characteristics of good sources of energy ? 2 

11. ¬ÊÁ⁄UÃ¢òÊ ◊¥ ™§¡Ê¸ ¬˝flÊ„U ∑§Ê ‚◊¤ÊÊßÿ –  

 Explain flow of energy in an ecosystem. 2 

12. ¡Òfl Áfl∑§Ê‚ ◊¥ ¡ËflÊ‡◊Ê¥ ∑§ ◊„Uàfl ∑§Ê ‚◊¤ÊÊßÿ –  

 Explain the importance of fossils in organic evolution. 2 

13. ◊≈U⁄U ∑§ ‹ê’ ( ¬÷̋ÊflË ) ∞fl¢ ’ÊÒŸ ( •¬˝÷ÊflË ) ‹ˇÊáÊÊ¥ flÊ‹ ¬ÊÒœÊ¥ ◊¥ ‚¢∑§⁄UáÊ ∑§⁄UÊŸ ¬⁄U 

F 2  ¬Ë…∏UË ◊¥ ¬˝ÊåÃ ‚ãÃÁÃ ∑§Ê ‹ˇÊáÊ •ŸÈ¬ÊÃ ⁄UπËÿ •Ê⁄Uπ mÊ⁄UÊ S¬c≈U ∑§ËÁ¡ÿ –  

 Draw linear diagram to obtain ratio of F 2  progeny as a result of 

crossing between tall pea plant ( dominant ) with short pea plant 

( recessive ). 2 

14. ŒËÉÊ¸-ŒÎÁc≈UŒÊ· ÄÿÊ¥ „UÊÃÊ „ÒU ? ß‚ ∑Ò§‚ ŒÍ⁄U Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „ÒU ?  

 Why is hypermetropia caused ? How can it be corrected ? 1 + 1 = 2 
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πá«U - ‚ 

Section - C  

15. ÁŸêŸ ‚◊Ë∑§⁄UáÊÊ¥ ◊¥ X, Y  fl Z  ∑§Ê ¬„UøÊÁŸÿ — 

 i) Cu + CO 2  
 Ÿ◊Ë 

 →  „U⁄UÊ ¬ŒÊÕ¸ ( X ) 

 ii) Ag + Y  
 „UflÊ 

 →  ∑§Ê‹Ê ¬ŒÊÕ¸ ( Ag 2 S ) 

 iii) FeSO 4  
 ™§c◊Ê 

 → Fe 2 O 3  + SO 3  + Z.  

 Identify X, Y and Z in the following equations : 

 i) Cu + CO 2  
 moisture 

 → Green compound ( X ) 

 ii) Ag + Y  
 air 

 → Black compound ( Ag 2 S ) 

 iii) FeSO 4  
 heat 

 → Fe 2 O 3  + SO 3  + Z. 1 + 1 + 1 = 3 

16. ÄÿÊ „UÊÃÊ „ÒU ¡’ ó 

 i) CuSO 4 ( aq )  + Fe ( s ) → ? 

 ii) Zn ( s ) + H 2 SO 4 ( l )   → ? 

 iii) Na ( s ) + O 2 ( g )   → ?  

 What happens when — 

 i) CuSO 4 ( aq )  + Fe ( s ) → ? 

 ii) Zn ( s ) + H 2 SO 4 ( l )   → ? 

 iii) Na ( s ) + O 2 ( g )   → ? 1 + 1 + 1 = 3 
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17. ◊Òá«U‹Ëfl fl •ÊœÈÁŸ∑§ •ÊflÃ¸ ‚Ê⁄UáÊË ∑§Ë ÃÈ‹ŸÊ ∑§ËÁ¡ÿ  

 i) flªÊZ ∑§ •ÊœÊ⁄U ¬⁄U  

 ii) ÃàflÊ¥ ∑§ ªÈáÊÊ¥ ∑§ •ÊœÊ⁄U ¬⁄U  

 iii) flªË¸∑§⁄UáÊ ∑§ •ÊœÊ⁄U ¬⁄U –   

 Compare Mendeleev and modern periodic tables 

 i) on the basis of groups 

 ii) on the basis of properties of elements 

 iii) on the basis of classification. 1 + 1 + 1 = 3 

18. ⁄UÄÃŒÊ’ ÄÿÊ „ÒU ? œ◊ŸË fl Á‡Ê⁄UÊ ◊¥ ∑§Êß¸ ŒÊ •¢Ã⁄U ŒËÁ¡ÿ –  

 What is blood pressure ? Give any two differences between artery and 

vein.  1 + 2 = 3 

19. ¬ÈŸL§Œ˜÷flŸ ÄÿÊ „ÒU ? å‹ŸÁ⁄UÿÊ ◊¥ ¬ÈŸL§Œ˜÷flŸ ¬˝Á∑˝§ÿÊ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡ÿ –  

 What is regeneration ? Describe the process of regeneration in 

Planaria. 1 + 2 = 3 

20. ßã‚È‹ËŸ „UÊ◊Ê¸Ÿ dÊÁflÃ ∑§⁄UŸ flÊ‹Ë ª¢̋ÁÕ ∑§Ê ŸÊ◊ Á‹Áπÿ – ß‚ ª¢̋ÁÕ ‚ ßã‚È‹ËŸ dfláÊ ∑§Ë 

◊ÊòÊÊ ∑§Ê ÁŸÿ¢òÊáÊ Á∑§‚ Á∑˝§ÿÊÁflÁœ mÊ⁄UÊ ∞fl¢ ∑Ò§‚ „UÊÃË „ÒU ?  

 Write the name of the gland that secretes insulin hormone. What is the 

mechanism to control the quantity of insulin of the gland and how 

does it secrete ? 1 + 2 = 3 

21. ¬˝∑§Ê‡ÊÊŸÈflÃ¸Ÿ ÄÿÊ „ÒU ? ¬ÊŒ¬ ◊¥ ¬˝∑§Ê‡ÊÊŸÈflÃ¸Ÿ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ∑§Ë ‚„UÊÿÃÊ ‚ Œ‡ÊÊ¸ßÿ –  

 What is phototropism ? Show phototropism in plant with the help of a 

labelled diagram. 1 + 2 = 3 
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22. üÊáÊË ∑˝§◊ ◊¥ ¡È«∏U ÃËŸ ¬˝ÁÃ⁄UÊœÊ¥ ∑§Ê ¬Á⁄U¬Õ ÁøòÊ ’ŸÊßÿ – ß‚ ‚¢ÿÊ¡Ÿ ∑§ ÃÈÀÿ ¬˝ÁÃ⁄UÊœ ∑§ ‚ÍòÊ 

∑§Ê √ÿÈà¬ÛÊ ∑§ËÁ¡∞ –  

 Draw circuit diagram of three resistances connected in series 

combination. Derive formula for equivalent resistance for this 

combination. 1 + 2 = 3 

23. ¬˝∑§Ê‡Ê ∑§ •¬flÃ¸Ÿ ∑§ Á‹∞ SŸ‹ ∑§Ê ÁŸÿ◊ Á‹Áπ∞ –  

 ∞∑§ •flÃ‹ Œ¬¸áÊ ∑§ œ˝Èfl ‚ 15 ‚◊Ë ŒÍ⁄UË ¬⁄U ⁄Uπ Á’¢’ ∑§Ê ŒÊ ªÈŸÊ •ÊflÁœ¸Ã ∞fl¢ flÊSÃÁfl∑§ 

¬˝ÁÃÁ’ê’ ’ŸÃÊ „ÒU – Œ¬¸áÊ ‚ ¬˝ÁÃÁ’ê’ ∑§Ë ŒÍ⁄UË ∞fl¢ Œ¬¸áÊ ∑§Ë »§Ê∑§‚ ŒÍ⁄UË ôÊÊÃ ∑§ËÁ¡∞ –  

 State Snell’s law for refraction of light. 

 A concave mirror forms two times magnified and real image of an 

object placed at 15 cm from its pole. Determine the distance of image 

from mirror and focal length of the mirror. 1 + 2 = 3 

24. 8 Ω  ¬˝ÁÃ⁄UÊœ ∑§ ÁŒ∞ ª∞ ¬ŒÊÕ¸ ∑§ ÃÊ⁄U ∑§Ë ‹¢’Êß¸ l  ÃÕÊ •ŸÈ¬˝SÕ-∑§Ê≈U ∑§Ê ˇÊòÊ»§‹ A „ÒU – 
ß‚Ë ¬ŒÊÕ¸ ∑§ •ãÿ ÃÊ⁄U ∑§Ë ‹¢’Êß¸ 2l ÃÕÊ •ŸÈ¬˝SÕ-∑§Ê≈U ˇÊòÊ»§‹  

A
2  „UÊŸ ¬⁄U ©U‚∑§Ê 

¬˝ÁÃ⁄UÊœ ôÊÊÃ ∑§ËÁ¡∞ –  

 A wire of a given material having length l and area of cross-section A 

has a resistance 8 Ω. Determine the resistance of another wire of same 

material having length 2 l and area of cross-section  
A
2  ? 3 
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πá«U - Œ 

Section - D 

25. SÃê÷  A ‚ B ∑§Ê ‚È◊Á‹Ã ∑§ËÁ¡ÿ  :  
  A  B  

 (i) ¬˝’‹ •ê‹  (a) „UÀŒË  
 (ii) ŒÈ’¸‹ •ê‹  (b) NH 4 Cl 

 (iii) ¬˝ÁÃ •ê‹  (c) Na 2 CO 3   

 (iv) ¬˝’‹ ˇÊÊ⁄U  (d) ◊ÁÕ‹ •ÊÚ⁄¥U¡  
 (v) ŒÈ’¸‹ ˇÊÊ⁄U  (e) CH 3 COOH 

 (vi) ©UŒÊ‚ËŸ ‹fláÊ  (f) H 2 SO 4   

 (vii) •ê‹Ëÿ ‹fláÊ  (g) NH 4 OH 

 (viii) ˇÊÊ⁄UËÿ ‹fláÊ  (h) Á◊À∑§ •ÊÚ»§ ◊ÒÇŸÁ‡ÊÿÊ  

 (ix) ¬˝Ê∑Î§ÁÃ∑§ ‚Íø∑§  (i) NaOH 

 (x) ‚¢‡‹Á·Ã ‚Íø∑§  (j) NaCl.  

 Match column A with B : 10 × 12  = 5 
  A  B  
 (i) Strong acid (a) Turmeric 

 (ii) Weak acid (b) NH 4 Cl 

 (iii) Antacid (c) Na 2 CO 3   

 (iv) Strong base (d) Methyl orange 

 (v) Weak base (e) CH 3 COOH 

 (vi) Neutral salt (f) H 2 SO 4   

 (vii) Acidic salt (g) NH 4 OH 

 (viii) Basic salt (h) Milk of magnesia 

 (ix) Natural indicator (i) NaOH 

 (x) Synthetic indicator (j) NaCl.  
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26. (•) ¡‹ ‚¢÷⁄U ¬˝’ãœŸ ∑§ ÄÿÊ ©Ug‡ÿ „Ò¥U ?  

 (’) ’«∏U ’Ê¢œÊ¥ ∑§ ÁŸ◊Ê¸áÊ ‚ ©Uà¬ÛÊ ‚◊SÿÊ•Ê¥ ∑§Ê ©UÀ‹π ∑§ËÁ¡ÿ –  

 (a) What are the aims of watershed management ?  

 (b) Mention the problems caused by the construction of large dams. 

    2 + 3 = 5 

27. øÈê’∑§Ëÿ ˇÊòÊ Á∑§‚ ∑§„UÃ „Ò¥U ? Á∑§‚Ë ¿U«∏U øÈê’∑§ ∑§ øÊ⁄UÊ¥ •Ê⁄U øÈê’∑§Ëÿ ˇÊòÊ ⁄UπÊ•Ê¥ ∑§Ê 
ÁøòÊ ’ŸÊßÿ – ßŸ∑§Ë Á∑§ã„UË¥ øÊ⁄U Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê Á‹Áπ∞ – Á∑§‚Ë œÊ⁄UÊflÊ„UË øÊ‹∑§ ‚ ‚ê’h 
øÈê’∑§Ëÿ ˇÊòÊ ∑§Ë ÁŒ‡ÊÊ ôÊÊÃ ∑§⁄UŸ ∑§Ê ÁŸÿ◊ Á‹Áπ∞ –  

 What is magnetic field ? Draw magnetic field lines around a bar 

magnet. Write down four characteristics of magnetic field lines. State 

the rule for finding the direction of magnetic field associated with a 

current carrying conductor. 1 + 1 + 2 + 1 = 5 

28. (i) ∞‚ËÁ≈U∑§ •ê‹ ∑§Ê ‚¢⁄UøŸÊ ‚ÍòÊ Á‹Áπÿ –  

 (ii) ∞ÕŸ ∑§Ë ß‹Ä≈˛UÊÚŸ Á’ãŒÈ ‚¢⁄UøŸÊ Á‹Áπÿ –  

 (iii) Áfl·◊ ¬⁄U◊ÊáÊÈ ∑§Ê ©UŒÊ„U⁄UáÊ Œ∑§⁄U ‚◊¤ÊÊßÿ – 
 (iv) C 2 H 6 , C 3 H 4 , C 3 H 8   ÃÕÊ C 2 H 4  ◊¥ ‚ •‚¢ÃÎåÃ „UÊß«˛UÊ∑§Ê’¸Ÿ ¿UÊ°Á≈Uÿ –  

 (v) ‚Ê’ÈŸ fl •¬◊Ê¡¸∑§ ◊¥ ∞∑§ •ãÃ⁄U Á‹Áπÿ –  

•ÕflÊ  

 ÁŸêŸÁ‹ÁπÃ ∑§Ê ©UŒÊ„U⁄UáÊ Œ∑§⁄U ‚◊¤ÊÊßÿ — 

 (i) ‚¢ÃÎåÃ „UÊß«˛UÊ∑§Ê’¸Ÿ  

 (ii) ∞À∑§Ê„UÊÚ‹ ∑§Ê Áfl∑Î§ÁÃ∑§⁄UáÊ  

 (iii) ¬˝ÁÃSÕÊ¬Ÿ •Á÷Á∑˝§ÿÊ  

 (iv) „UÊß«˛UÊ∑§Ê’¸Ÿ ∑§Ê Œ„UŸ  

 (v) •‚¢ÃÎåÃ „UÊß«˛UÊ∑§Ê’¸Ÿ ∑§Ê „UÊß«˛UÊ¡ŸË∑§⁄UáÊ –  
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 (i) Write the structural formula of Acetic acid. 

 (ii) Write the electron dot structure of ethane. 

 (iii) Explain odd atom by an example. 

 (iv) Select unsaturated hydrocarbon in C 2 H 6 , C 3 H 4 , C 3 H 8   and 

C 2 H 4 . 

 (v) Write a difference between soap and detergents. 

    1 + 1 + 1 + 1 + 1 = 5 

OR 

 Explain the following with example : 

 (i) Saturated hydrocarbon 

 (ii) Denaturation of alcohol 

 (iii) Displacement reaction 

 (iv) Combustion of hydrocarbon 

 (v) Hydrogenation of unsaturated hydrocarbon. 

    1 + 1 + 1 + 1 + 1 = 5 

29. ŒÊ„U⁄UÊ ¬Á⁄U‚¢ø⁄UáÊ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U ? ◊ÊŸfl ◊¥ •ÊÚÄ‚Ë¡Ÿ ÃÕÊ ∑§Ê’¸Ÿ «UÊß¸•ÊÚÄ‚Êß«U ∑§ 
¬Á⁄Ufl„UŸ ÃÕÊ ÁflÁŸ◊ÿ ∑§Ê √ÿflSÕÊà◊∑§ ÁŸM§¬áÊ ( ÁøòÊ ) ∑§Ë ‚„UÊÿÃÊ ‚ ‚◊¤ÊÊßÿ –  

•ÕflÊ  

 flÎÄ∑§ÊáÊÈ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊßÿ – ◊ÍòÊ ÁŸ◊Ê¸áÊ ∑§Ë ¬˝Á∑˝§ÿÊ ‚◊¤ÊÊßÿ –  

 What do you understand by double circulation ? Explain transport 

and exchange of oxygen and carbon dioxide with the help of schematic 

representation ( diagram ). 1 + 2 + 2 = 5 

OR 

 Draw labelled diagram of a nephron. Explain the process of urine 

formation. 2 + 3 = 5 
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30. Á¬˝Ö◊ ∑§ Á‹∞ Á¬˝Ö◊ ∑§ÊáÊ ∞fl¢ Áflø‹Ÿ ∑§ÊáÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – ‡flÃ ¬˝∑§Ê‡Ê ∑§Ê Á¬˝Ö◊ 
‚ ªÈ¡Ê⁄UŸ ¬⁄U ¬˝ÊåÃ S¬Ä≈˛U◊ ◊¥ fláÊÊZ ∑§Ê ∑˝§◊ Á‹Áπ∞ –  

 ßãº˝ œŸÈ· ∑§ ’ŸŸ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§Ê ‚◊¤ÊÊß∞ –  

•ÕflÊ 

 ªÊ‹Ëÿ ‹ã‚ ∑§ Á‹∞ Á’ê’ ŒÍ⁄UË  ( u ), ¬˝ÁÃÁ’ê’ ŒÍ⁄UË ( v ) ∞fl¢ »§Ê∑§‚ ŒÍ⁄UË ( f ) ◊¥ ‚ê’¢œ 

Á‹Áπ∞ – •Êflœ¸Ÿ Á∑§‚ ∑§„UÃ „Ò¥U ? flÊÿÈ ∑§ ‚Ê¬ˇÊ ∑§Ê¢ø ∑§Ê •¬flÃ¸ŸÊ¢∑§ 32  „ÒU ÃÕÊ flÊÿÈ ∑§ 

‚Ê¬ˇÊ ¡‹ ∑§Ê •¬flÃ¸ŸÊ¢∑§ 43  „ÒU – ÿÁŒ flÊÿÈ ◊¥ ¬˝∑§Ê‡Ê ∑§Ë øÊ‹ 3 × 10 8  m/s „ÒU, ÃÊ  

(a)  ∑§Ê°ø ◊¥  (b)  ¡‹ ◊¥, ¬˝∑§Ê‡Ê ∑§Ë øÊ‹ ôÊÊÃ ∑§ËÁ¡∞ –  

 Define prism angle and angle of deviation for a prism. Write the 

sequence of colours in the spectrum formed by the passage of white 

light through a prism. 

 Explain the process of formation of rainbow. 1 + 1 + 1 + 2 = 5 

OR 

 Write the relation between object distance ( u ), image distance ( v ) 

and focal distance ( f ) of a spherical lens. What is magnification ? 

 The refractive index of glass with respect to air is 3
2  and the refractive 

index of water with respect to air is 4
3  . If the speed of light in air is 

3 × 10 8  m/s, find the speed of light in (a) glass,  (b) water. 

   1 + 1 + 1 
1
2  + 1 

1
2   = 5 

   


